A 10 =] A4 HIE 2 eHiful M= Sorjis] 23

[cH=l8]
A 10 2| A|LH8FBZ ol ==l s

[CH=]7]2H
ofl4d: 2018 10 € 16 Y (&)
2M4:2018'3 10 €29 U(Y)

[CHS & A]
Ol M - ST A CC (EfQH)
HM:HELL GC (9h

[CHS|2A ]
G| :B3A[12:40 & Tee-Off
HM HEKRE IA/13:11 2 ~ Tee-Off

[il-7|-1|-7=I]
X3 2T (KSPGA 5] 2M)
o Ch3lo) 7RI ZS M BHO|M LAt 20| 7HSEHLICH

CHStAZ R D2 ZTHHS|(KSPGA) 2H0]|Z] (www.pga.or.kr) £
Z3}(032-831-1986) O 2 L{3| AMH 5 2717}t 7F=3ICt,

e

= L2 MY 2 HYT Ue &% AV &Y.
[zl Md=]

Ofld : 32+

= 120 22 (KSPGA H=l#) /40 THa (H|=] )

- Eh=] ofld / 240l &7tst7] 2t 2t2E HIE2 2| =2l0] fEetrt.



*»* KSPGA 3|2 / H|3| 2 **
KSPGA X3|91S [HEtA T X T 2T I8i5| T22 S£5HH 09|90 TR
H| 2| &0j| £3tCt.

[CH=] & A]
Ol : 160 8 7t/ 2| HE= fEe
=14:408 /ol A7IAF AERS & 40 S7HAl ME

s EMAZA M Y 0o

160 | HMRTIRF & AER T ML 40 Q7R MBiT,

o, 2 M2 S Ol WS EM EH2I9_| 20| 25% (10 &) 0]g+ &
A2, 2|4 25% G MAZAE M,

[B7144]
O : XU/ AERT
BEM:IAEZT

[ A4 2]

o 1 9} 2 ke

2&(2/0d) : 20 3 2HE (2,600 2H)
FL5(2/09) 110 S 2H2(1,300 )
29012l : 20 & 2=(2,600 2+2))

LONGEST (&/0d) : S} 4= (390 )
NEAREST (&/0]) : S} AZ (390 TH)
OjL A, 24 & 7|Ef &

7t 71g ErE 2 (M3 Sd)

o



jstA T2 T2 2 T8 35| (KSPGA)

1) 242 White-Tee, ({42 Lady-Tee O|A] ZIHSHCE, (AL|O]

2) CHE &7t A e= 2t RS & AT 0 24 L 5H=2H0] U]t
4712130 M T H 2 A A AZ QUL

3) d7|2FY 3A E=4Q & E0|2 2ME|H, M2 EHH 1/N

4) SHA7 Lo Z2 of2lje| 't o 2 &9l 5 AZSICL.

- O] 2 @& OfR[9F =R} E= 2N AT CHY F R AlEE 21T
AT 09| Back Count Aoz ZAZSt

>

 Back Count AL & EFx{7}2 91 0| 410|0jM SM £ 9IS 71 9|2
AHHOF Y A, S EH2C O W 0, M 6, W 3 202 OM 29|12
A5, THE S EY 29 18 0| 1 HE £02 B10l5/01

=fE 28I

d

5) A[+HFEZE 2hufu Sorfs]o] 2FE AldE2 2AUREE 10% 7t
SatE L.
2.0fld 18

1) 160 HO| &7}otH, AEZS MO =2 40 J7I7HA| =40 21=3ICt
2) =MEA S Od UEAT =4 T2l 25% (10 F) 0|2 &
B, 2|4 25% O JEAE HWESiCt.

3) 2Rt L A4 0] glon, ASH & MA= JHEE .

4) ofldolA 21Tt Q10| LtE F? FAH390 2Hal) 0] =04 ECh,

—



w
rhT
rx
=
ox

1) =42 0l St FTHof| A= F7HAR0f| Stolf Aleh A40] 021t

2) T2t S ASAO| UCH B2 S & Q| (et 24 O] SSIT.
[Z2H ]

ZHIZ Z7|9™=l0|M ZYotH, &0 met 2] S E7[91H=]0M
g zd=sg AN

A8 2 AEEH]

1. A8+

SQUSLZH ONE = ArES 22 2 it

2. N-E2E

1471 O|Liel =2 2SS AFEE & UCH, LEHA0|Z| 32 2E2

HE= =7I5ICt

[27145]

87| 2=l Eget 37] 2= 2ol 71230 2oE == UL

[2H E]
1. 27HM471 Ao|2 2 THE 4 9lom, T A H7|I0i|H 2350
StCf,

2. HH R = 8719 &=|2| 20| w2t
3. this] "*7f7¢7f 871512 1|*|§ EOI

B0l eholiA= ol 485 2 =+ UL

5. ZZ Of|E[ZU0)| ¢|2tEl= S| = s CHE 72| SE2|0]0] Fet=
N2 712 E7|91 =0 28510 2442 2 + ULt

6. Z{2|= CH=lof 3f2He 4 QiCt.



7. T3] B2 AL LS E2T U 40| W
i3] 22 Sl OfE3H 2 H7|= QY| o S Yo 2 B,
BE AYS F7|9IY8l0| ZHo| HZO|C,

8. BE AL R&A O 0| 510, 77|98 20| 21Z0IC.

[F3n3]

1. EfQIOA 227t 2[R Al 2 =S 28 2 + U= ot

2. A FHEMN 2| 7E A&t F719|-e|0A tel SALFE A
E|NE E%, A7 HSE2 27 E BEA| 2185 = o1 L S0
7ot =5 St0{0F SHTt.

T 37191 2=]0M 5i7tet 40l S| M2 AlSE ZZ 0] 0] 280
7FSotCt.

3. 2% 78S & oAl Y= 7= =0 71 = giCt,

1 AIGE2 F21S Ao et LR HE 2 5 AFLIC
Al AlOlIA A 2] ELT.
3.SEHS &)L ER 18 E AR IRE MU IIRE =02 Y

SfLCt.

4. =32 S =d= S50 2o+ 8ok (B, 24012 iUy, 424,
Htd s2 3371)

5. 22| d2 =UREH= 10% 7t FatEct.

6. Al E2 I3 B2 3 22U REHI 10%E 2RSS 4 s &
UCH, L2 E= 2 30 ¥ O|LH0f| DI'EA| MYES Z7I5t= U=
2ttt

[2AHE]

CHe| & £ A2(0f Chat 20| UALE 27t AS B U=

B7|2 A== sl SAAA ZALE 23 + A, SAA= 01

[F2fOF SCf. 2Ar= CHel B7[9IR&212] R&A A0 2| HoH0
FZ

Ct.
ZIlSHH, AL 2o et =0| S 2= 4 AL



EER)
*PRO 22

£ : At 79 EFO|LY / OfA 81 EFOILH
MIBIZ2 : 2} 76 EFOILH / 042F 79 EOJLY

[A[L]O17]|2 - = 50 MO &, Of 40 M| Of & / 7|2 Ef=0f +2 E}]

A £ B2
A=A 2 & :85E}O|L
A=A 32 : 89 E}O|LY

CHotAZ =T 225 T%3] 1 032-831-1986
A= 25824 :010-9279-6807



